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1 <. Transitive
2, ahb
3. a. adjacent
4, b7
5. adigraph o }
I 1. Poset
2.5urjective
3. Indegree
4. 45
- 5,35
i e , |
1. A-relation which is reflexive, Symmetric and transitive is called equivalence |
relation, I
2. A term which is obtained from its previous term is called recurrence
relation.

3. Apgraph with no loops and no parzllel edges is called a simple graph.
4, If there are n pigeons and m pigeonholes s.t n>m then two or more |
pigeons can be accommodate in atleast one pigeonhole.
. 5.C{n+1, r)= Cn, r)+C(n, r-1) : ‘
H
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fog(x)=x>+3

- gux{x)=(x+3)2 _
Define L‘qulvalonw relation and et R= WL, (1 '%)( 25 (2,4, (33, (3 1) 4
1), (4, 2) be the realtion defined on A= {l, 2, 3, 4}. Show that R is an

~equivalence relation, :
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parallel edges is an n xn matrix A=[aij] whose clements aro given by
Afj=1if ther is an edge between ith and Jth vertices and
|‘ - [aij]=0 if ther is no cdge between them,

A graph or multigraph which can be drawn in the plane so that its edges do




: . NOLCrosS i cal]cd plamu Eraph

Exp!aln the operations an graphs also find umon and i mtersect;on of the glven )

; graphs

bra /f_‘-‘\“
e h -':J- A
b b
Preorder: 123189 WMs3111267 B
CPostorder: 43910821211 7651
Inorder: 43298101 11 12567
o e — T T T e e e R —



| Ans:an=2.3"1
18/25

graph is called a complete graph.

- Diagram of K5

- Ans:
3 2 2 3
1) L= fabubab. ababce. abeab. abe™. cabah. cabe. ¢mab.e
T - . - - -
by LL77= The negative power of & language 18 not defined.
& I guag




